
1) Round 7.873618802 to 2 decimal 
places.

Answer: ____________

2) 16/6 + 35/16

Answer: ____________

3) Share 90 in the ratio 86:4

Answer: ____________

4) A number was shared in the ratio 
7:20. The smaller share was 21. 
What was the total amount shared?

Answer: ____________

5)

'Name the type of angle.

Answer: ____________

6)

'Name the type of angle.

Answer: ____________

7)
81

4 /8

Answer: ____________

8) Increase 142 by 3/71

Answer: ____________

9) 1080 ÷ 40

Answer: ____________

10) (-4884) ÷ 66

Answer: ____________

11) $323.00 earning 2% compound 
interest for 1 years.

Answer: ____________

12) What would you multiply by to 
decrease an amount by 89%?

Answer: ____________

13) Round 27.13496309182 to 9 
significant figures.

Answer: ____________

14) Find perimeter of 
square having each 
side (s) equals 3417 cm

Answer: ____________

15) 33 x (-35)

Answer: ____________
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16) 33 x (-35)

Answer: ____________

17) Write 0.9 in standard form.

Answer: ____________

18) 34   7/11 - 10   3/11

Answer: ____________

19) Find area of 
rectangle having 
sides a = 6756 m 
and b = 3635 m

Answer: ____________

20) 05:56 am To 11:37 am

Answer: ____________

Total: ___ / 20
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Answers:

1) 7.87 2) 441/48 3) 1 : 89 4) 81 5) Obtuse 6) Right 7) 9

8) 148 9) 27 10) -74 11) $329.46 12) 0.11 13) 27.1349631 14) 13668cm

15) 16) 17) 9 x 10-1 18) 244/11 19) 24558060m 20) 05 Hours 41 Mins
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